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e piece of candy from a bag that has one of
2. Write an addition problem with i each (cherry, lime, grape), and drawing a
integers to solve this problem. |

bill from a box that has an equal number of
Sue took good care of her

$50s, $20s, and $10s.
meat-eating plant. It grew O t '
from a seed to a six-inches tall omes
plant in three weeks. Then she uLcoln B

forgot to water it. The plant
lost two inches in height.

How tall was the plant then?

3. Compute: 113 |2,599

Y. Define a line segment.
Draw one.

TUESDAY weeke

s S I e

1. Fill in the missing symbol: <, >, or = ST
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2. Show three other ways to represent the f% There are 450 different kinds of
value of this number. Use words, numerals, A meat-eating plants. Sue has

and/or symbols. e photographed 28 percent of
them. She has seven photos of
.25 a Venus’s fiytrap plant and ten
photos of a sundew piant. She
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spent three months searchine for
2. Compute: | ; S
P £367 ¥ 2.7 GSE e pitcher plant, and finaliv took
. k= ’ve photos. How many differen:
‘meat-eating plants has Sue

¥, Find the area of this figure. photographed?
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1. Wrire this equation:

Six iimes the square of o
number equals ninety-six

12 x -4 =

2. —ompute:

. The difference between the
greatest and least values
in a set of data is the

O mean O range

O median O frequency

. Is 200,000 a reasonable solution
to this problem?

A basket starfish has 50 arms. Frank
mistakenly caught 35 of these
animals in a basket. How many
starfish arms were in that basket?
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1. Give the place value for each 4 in the
following number.

3. Compute:

4, The bombardier beetle defends itself

by squirting a hot liquid on its enemies.
This liquid is the temperature of boiling
water. It could be

O T100°F
O 212°F

O 100° C
O 180°F

" K
0 212°C
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3. Which rigure is congruent to the
first one?
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Odd Bird Sightings
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